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Adding and Subtracting 10s and 100s Name:
Fill in the blanksfor each problem.
691+ 10= 531-10= 280 + 100 = 541-100 =
770+ 10 = 997 -10= 839+ 100 = 327 - 100 =
584 + 10 = 138-10= 346 + 100 = 836 - 100 =
139+ 10= 633-10= 259 + 100 = 529 - 100 =
946 + 10 = 938-10= 18+ 100 = 352 - 100 =
725+ 10 = 818-10= 342 + 100 = 141-100=_
585 + 10 = 548 -10= 597 + 100 = 472-100=
401 +10= 959 - 10 = 485 + 100 = 446 - 100 =
977 +10= 64-10=_ 292 + 100 = 922-100=
176 + 10 = 152-10= 719 + 100 = 995 - 100 =
438+ 10 = 698 - 10 = 409 + 100 = 801 - 100 =
70+10= 700-10= 114 + 100 = 403 - 100 =
782 +10= 470-10= 102 + 100 = 617 - 100 =
925+ 10= 208-10= 707 + 100 = 886 - 100 =
374+ 10= 326-10= 468 + 100 = 413-100 =
10+10=__ 900- 10= 484 + 100 = 902 - 100 =
493 +10= 625- 10 = 620 + 100 = 137-100=_
217 +10= 58-10= 568 + 100 = 732-100=
405+ 10 = 539-10= 665 + 100 = 931-100=
330+ 10= 32-10=_ 455+ 100 = 652 - 100 =
15+10= 319-10= 282 + 100 = 835- 100 =
464 + 10 = 16-10=_ 524 + 100 = 982 - 100 =
969 + 10 = 951-10= 367 + 100 = 190 - 100 =
36+10=_ 25-10= 619 + 100 = 498 - 100 =
570+ 10 = 939-10= 402 + 100 = 632 - 100 =
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Adding and Subtracting 10s and 100s

Name:

Answer Key

Fill in the blanksfor each problem.

691+10=_ 701 531-10= 521 280+100=_ 380 541-100= 441
770+10= 780 997-10=_ 987 839+100=_ 939 327-100= _ 227
584+10= 594 138-10=_ 128 346 +100= 446 836-100=_ 736
139+10= 149 633-10=_ 623 259+100=_ 359 529-100= 429
946+10=_ 956 938-10=_ 928 18+100= 118 352-100= 252
725+10=_ 735 818-10=_ 808 342 +100= 442 141-100= 41
585+10= 595 548-10= 538 597 +100= 697 472-100= 372
401+10=_ 411 959-10= 949 485+100= 585 446-100= 346
977+10= 987 64-10= 54 292+100= 392 922-100= 822
176 +10= 186 152-10=_ 142 719+100= 819 995-100=_ 895
438+10=_ 448 698-10=_ 688 409+100=_ 509 801-100=_ 701
70+10=_ 80 700-10=_ 690 114+100= _ 214 403-100=_ 303
782+10=_ 792 470-10= _ 460 102+100=_ 202 617-100= 517
925+10=_ 935 208-10= 198 707+100=_ 807 886-100=_ 786
374+10= 384 326-10=_ 316 468 +100= 568 413-100= 313
10+10=_ 20 900-10=_ 890 484+100= 584 902-100=_ 802
493+10= 503 625-10=_ 615 620+100=_ 720 137-100= 37
217+10=_ 227 58-10= 48 568+100=_ 668 732-100= 632
405+10= 415 539-10= 529 665+100= 765 931-100= 831
330+10= 340 32-10=_ 22 455+100= 555 652-100= 552
15+10=_ 25 319-10=_ 309 282+100= 382 835-100=_ 735
464+10=_ 474 16-10=_ 6 524+100= 624 982-100=_ 882
969+10=_ 979 951-10=_ 941 367 +100= 467 190-100= 90
36+10=_ 46 25-10=_ 15 619+100= 719 498-100=_ 398
570+10=_ 580 939-10=_ 929 402 +100= _ 502 632-100= 532
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